Surds

Simplify
1) V72

2) V18
3) 3vV8 + 42

Fractions

1 1
1) s+

3 3
2) 2;+Z

HigHer 6

Venn Diagrams
¢=1{12,3,4,5,6,7,8,9}
A = {Multiples of 3}
ANB ={3,9}
AUB ={1,3,5,6,9}
Draw a Venn diagram to
represent this information.

Standard Form

1) Write 0.004 in standard form.

2) Express 2.54 x 10° as an
ordinary number.

Make x the subject
hx +y=yx+h

Trigonometry

Calculate the value of cos(60).
Circle the correct answer.

1 0
V3
2

Find the missing length.
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surds
Simplify .
D N72=36x2=6V2 HigHer 6

2) JIB=vVIX72 =332 Venn Diagrams

£ ={1,2,3,4,5,6,7,8,9}
A = {Multiples of 3}

) 237402 e
= 3VEAX 2+ 4/2 o dngra o

Draw a Venn diagram to represent

= 6\/5 + 4\/5 = 10\/5 this information.
£

Fractions A B
1, 1 _5+3 8 2
HERRETHET: 6)
g 4

Standard Form
Write 0.004 in standard form.
4x 1073
2) Express 2.54 x 10° as an
ordinary number.
254 000

Make x the subject
hx +y=yx+h
hx —yx=h—y
x(h ; y)=h-y
-y
= "y =1
Trigonometry

X

Calculate the value of cos(60).
Circle the correct answer.

1 0
V3

2

Find the missing length.

60° N\ 15cm X = 15 X cos(60)
1
x =15 X~

2
x =7.5cm

ANSWer'S
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